Adding and Subtracting Monomials

Name: Score:

Solve for each variable.

Ja-2a= v-4v= Ox - 7x =
2c+3c= k - (-4k) = 3r+4r=
2v'n - (-Vzn) = -n-"7n= -2q2 + 2q2 =
2b - 5b = 2m'n +6mn = 2t- 10t =
2p+4p = 8a+ 3a= -y - 6y =
-2y2 + Sy2 = 2V’ -5V = ab+4ab=
2q-4q= 5¢ - 8¢ = 3+ 55 =
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3a-2a=
a

2c +3c =
5¢

2v'n - (-Vzn) =

2
3vn

Answers

Solve for each variable.

copyright:

v-4v=
-3v

k - (-4k) =
5k
-n-"7n=
-8n

2 2 2 2
2mn +6mn =
2 2
gm n

8a+3a=
lla

2V3 - 5V3 —

-3v

5¢-8c=
-3¢
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Ox - 7x =
2X

3r+4r=
_2q2 -+ 2q2 =

2t- 10t =
-8t

-y - 6y =
Ty

ab+4ab=
5a2b
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